ST. THOMAS SCHOOL, LONI
MATHS WORKSHEET-5
CLASS II-

Name: Date: Roll no.

Note: Complete it and paste in Maths notebook. Bring on 31-12-19. This
worksheet carries 2 marks.

Ql.Solve.
a) 35km - 7km = b) 17cm - 5cm =
c) 60m+ 10m = d) 400m-200m =

Q2. Sita has 35 apples and Renu has 25 apples. How many apples do they have
altogether?

Tens | Ones

Ans-They have apples altogether.

Q3.Rohan has 86 toffees. Out of them, Sohan ate 18 toffees. How many toffees are left
with Rohan?

Tens | Ones

Ans- toffees are left with Rohan.




